ANNEXURE “A” PAGE 1 OF §

ALY
Material Description N Unit | Price
Number Excl
Vat

1073937 | BOLT, MACHINE, HEX HEAD, Ml6 X 40 MM LONG, STEEL, BLACK.SAB ATEST EA
1073836 | BOLT, MACHINE, HEX HEAD, M20 X 50 MM LONG, STEEL, BLACK /LATEST. EA
1073759 | BOLT, MACHINE, HEX HEAD, M16 X 75 MM LONG, STEEL, BL 135/LATEST EA
1073747 | BOLT, MACHINE, HEX HEAD, Ml6 X 50 MM LONG, STEEL, LA 135/LATEST EA
1073695 | BOLT, MACHINE, HEX HEAD, Ml2 X 65 MM LONG, STEE LACK.SABS 135/LATEST EA
1073671 | BOLT, MACHINE, HEX HEAD, M12 X 50 MM LONG, STEE&L, ACK.SABS 135/LATEST EA
1073278 | SCREW, MACHINE, PRECISION, HEXAGON HEAD, M10 X“30/MM LONG, STEEL GRADE 8.8, EA

SABS 136/LATEST GRADE 8,8
1072135 | RIVET, BLIND, 6,5 MM DIA, 4,8 MM - 6,8 STEEL, ZINC-PLATED, EA

PASSIVATED.

PART NO. 2221-0815 AVDEL
1071267 | RIVET,BLIND, 4,8 MM DIA, 5 MM - MM GRIP, HOLLOW DOME HEAD, MONEL METAL EA

OR STAINLESS STEEL, TYPE 305, SHEAR STRENGTH 4 KN, MINIMUM TENSILE

STRENGTH 4 KN, P/N MP 4810 SSP 48111 TUCKER
107155 | TYPE 305 RIVET, HOLLOW 4,8 MM DIA, 5,8 MM-8,6 MM GRIP RANGE, EA

MONEL METAL OR STAINLESS , MINIMUM SHEAR STRENGTH 4 KN, MINIMUM

TENSILE STRENGTH

P/N MP 48127 TUCK 8143 TUCKER.
1068200 N TYPE, 4,8 MM X 15 MM LONG, 7,6 MM - 9,6 MM GRIP, EA

P/N TAP/D 612 BS TUCKER

RIVET,BLIND, STA A
DOME HEAD, AL

(2




ANNEXURE “A” PAGE 2 OF 5

\’)

1064364 | RAWLBOLT,M5 X 50 MM LONG WITH ROUND HEAD SCREW, SHIELD 9 MM DIA, D EA
LENGTH 38 MM LOOSE TYPE.

1063459 | SHIELD, EXPANSION, PLASTIC WALL PLUG, 8 X 35 MM EA

1063435 | SHIELD, EXPANSION, M10 X 50 MM NYLON WALL PLUG, EA

1063423 | SHIELD, EXPANSION, M6 X 30 MM NYLON WALL PLUG, EA

1063411 | PIN, HUCKBOLT, 10 MM DIA, 14,27 MM-17,45 MM GRIP, DI RBON STEEL, EA
MAKERS PART NUMBER 2311-1210 AVDEL

1063257 | PIN RIVET,GROOVED, CARBON STEEL, 10 MM DIA X , M LONG, 16,5 MM-22,5 EA
MM GRIP RANGE, MAKERS PART NUMBER MR3540T-R1 ,5G  HUCK

1061804 | NUT, NYLOC TYPE, HEXAGON, M20, NORMAL HEI L, SPECS No.BS 4929/LATEST EA
PART 1

1061400 | SCREW, PRECISION, HEXAGON HEAD, 0O BA LONG, STEEL, FULLY THREADED, EA
SPECS NO. BS 57/LATEST TABLE 5

1061068 | SCREW, MACHINE, SLOTTED FLAT CSK§§%§E, 2 BA X 5/8 IN LONG, BRASS, EA
SPECIFICATIONS T TABLE.

1059233 | WASHER, FLAT, 2 BA,BRASS, BS 3410/LATEST TABLE 1 EA

1059208 | WASHER, FLAT, 3 BA, BRASS O. BS 3410/LATEST TABLE 1 EA

1055094 | COLLAR, HUCKBOLT, 1 IN AR, (STYLE C)TENSION TYPE, LOW CARBON STEEL EA
GALVANISED, PART NU 2R32G HUCK

1054974 | PIN RIVET, GROOVED HEAD 1 IN DIA, CARBON STEEL13 3/4 IN - 14 IN GRIP EA
PART NUMBER C50 20 HUCK

1054949 | PIN RIVET, GRO IN DIA ROUND HEAD CARBON STEEL10 1/4 IN - 10 1/2 IN EA
GRIPPART N 50LR-BR32-164 HUCK

1054594 ANDARD OPEN TYPE, 3,2 MM DIA X 7 MM LONG DOME HEAD EA

RIVET, BL1}




ANNEXURE “A” PAGE 3 OF 5

1054582 | RIVET, BLIND, STANDARD OPEN TYPE, ALUMINIUM, 4,8 MM DIA X 10 MM LONG,%S MM - EA
6,40 MM GRIP120 DEG CSK HEAD

1054306 | RIVET, BLIND, STANDARD OPEN TYPE, 4 MM DIA X 8 MM LONG, DOME HEA UMINIUM, EA
3,2 MM - 4,8 MM GRIP

1054291 | RIVET, BLIND, STANDARD OPEN, 4 MM DIA X 15 MM LONG, DOME HEAD YUMINIUM EA
ALLOY

1054278 | RIVET, BLIND, STANDARD OPEN TYPE, 4 MM DIA X 10 MM LONG HEAD, ALUMINIUM | EA
ALLOY

1054266 | RIVET, BLIND, STANDARD OPEN TYPE, 3,2 MM DIA X 6 MM LONG, DOME HEAD, EA
ALUMINIUM ALLOY -

1052267 | PIN, HUCKBOLT, 7/8 IN DIA, 1 3/4 IN - 2 IN GKIBJROUND HEAD CARBON STEEL EA
P/N C50LR-BR28-28 HUCK

1051893 | SCREW, BRASS, SLOTTED CHEESE HEAD, 4 BA N LONG, BRASS, SPECIFICATION | EA
NUMBER BS 57/LATEST TABLE 1

1051185 | PIN, SPRIN, 5/32 IN DIA X 3/4 IN LONG, ©STEEL, CADMIUM PLATED. EA

1051136 | PIN, SPRING, 1/8 IN DIA X 3/4 IN AONG,STEEL, CADMIUM PLATED. EA

1050899 | NAIL, ,WIRE,ROUND, STEEL, 3,1 X 65 MM LONG, SABS 820/LATEST TABLE EA
3

1049285 | COLLAR, GROOVED PIN RIVET, DIA, FLANGED (STYLE D) TENSION TYPE, LOW EA
CARBON STEEL, GALVANISED, S PART NUMBER 3LC-2R24G HUCK

1049273 | COLLAR, GROOVED PIN R IN DIA, REGULAR (STYLE C) TENSION TYPE, LOW EA

CARBON STEEL, MAKE UMBER LC-2R28 HUCK




ANNEXURE “A” PAGE 4 OF 5

1049046 | PIN RIVET,GROOVED, 3/4 IN DIA, 1 1/2 IN - 1 3/4 IN GRIP , ROUND HEQQ, EA
CARBON STEEL
MAKERS PART NUMBER C50LR-BR24-24 HUCK ‘.!lb

1048999 | PIN RIVET,GROOVED, 5/8 IN DIA, 1 1/4 IN - 1 1/2 IN GRIP, ROUND HEA EA
CARBON STEEL ‘\\’,
MAKERS PART NUMBER C50LR-BR20-20 HUCK

1048926 | WASHER, FLAT, M8, STEEL,BLACK, SABS 1149/LATEST TABLE. \ EA

1048797 | SCREW,MACHINE, 2 BA X 1/2 IN LONG, STEEL, ZINC PLATED CIFICATION EA
NUMBER BS 57/LATEST.

1048178 | sSTUD, PLAIN, 3/8 IN BSW X 1 1/4 IN LONG, STEEL, D DRAWING NUMBER CME EA
01/16202-597/LATEST, SPECIFICATION NUMBER BS QE?3/L TEST

1048105 | SCREW, SLOTTED FLAT CSK HEAD, 2 BA X 1 IN BRASS, SPECS NO.BS EA
57/LATEST TABLE 3

1047605 | SCREW, BRASS, SLOTTED CHEESE HEAD, 2 X LONG, SPECS NO.BS 57/LATEST EA
TABLE 1

1046268 | PIN RIVET,GROOVED, 3/4 IN DIA, U HEAD, 1 1/4 IN - 1 1/2 IN GRIP, EA
CARBON STEEL
P/N C50LR-BR24-20 HUCK

1046256 | PIN RIVET, 3/4 IN DIA, /4 IN GRIP, ROUND HEAD, CARBON STEEL, EA
MAKERS PART NUMBER C5OLR 6 HUCK

1045453 | RIVET, BLIND, STANDAR E, 4,8 MM DIA X 12 MM LONG, DOME HEAD EA




ANNEXURE “A” PAGE 5 OF 5 RN

1044799 | NUT,HEX, 1 1/4 IN BSW, STEEL,BLACK B EA
1044738 | NUT, PLAIN, HEXAGON, 5/8 IN BSW, STEEL,BLACK EA
1044726 | NUT, PLAIN, HEXAGON, 1/2 IN BSW, STEEL,BLACK EA
1044702 | NUT, PLAIN, HEXAGON, 3/8 IN BSW, STEEL,BLACK EA
1043858 | SCREW,MACHINE, PRECISION,HEXAGON HEAD, 3/4 IN BSW X 2 STEEL, EA
FULLY THREADED.
1043834 | PIN,SPLIT, 5 MM DIA X 63 MM, NOMINAL LEN, STEEL, SAB /LATEST EA
1043215 | RIVET, BLIND, STANDARD OPEN TYRE, 3,2 MM DIA X 10 _MM!LONG, DOMED EA
HEAD, ALUMINIUM ALLOY PN
1043163 | SCREW, PRECISION, HEXAGON HEAD, 5/8 IN BSW X 1€IN/LONG, STEEL, FULLY EA
THREADED SPECS NO.BS 1083/LATEST
1043126 | STAPLE, 19 MM X 2 MM GAUGE, STEEL, GALVZ EA
1042991 | SCREW, PRECISION, HEXAGON HEAD, 1/2 IN{BSWexX~1 1/2 IN LONG, STEEL, FULLY EA
THREADED
SPECS No.BS 1083/LATEST
1042978 EA

Take note:

SCREW, PRECISION, HEXAGON HEAD, @H BSw X 1 INCH LONG, STEEL,
SPECIFICATION NUMBER BS 108@

Please note that other similar items @sted above will also be procured from the selected bidder.

(2




